g(lﬂ— Dk+2) 4+ (k+1)(k+2) 9 Z& 289

@® %(k+1)(k+3)(k+4) ) %k(k+1)(k+2)
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@—1, -1, -2 ©-1,2
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-2x-y +2y = (x+y)(x-y) - 2(x-y)
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(2 + ) (3" +x+ 1) - 65 AL 3BHE?

@E-D)a+2)(2+x+3) @ (x-1)(x+2)(x*+x-3)
® (x=2)(x+1)(x*+x+3) @ (x-1)(x+2)(x*-x+3)

® (x+1)(x—2)(x* - x+3)

B

x? +x = X2t shat

(F4) =X(X+1)-6
=X’+X-6
=(X+3)(X-2)

=(x2+x+3) (2 +x-2)
=(x-1)(x+2)(x*> + x+ 3)
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=(** -y -2(x-y)
=(x+y-2)(x-y)
= (x+ay)(x— by +¢)
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a=-1,b=-1,c=-2
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T O 3x" —2x° —9x? 44, 3x%-3x% - 6x ©] F| -5 F5HH?

DO (x-1)(x-2) @ (x+1)(x+2) @(x+1)(x—2)
@ (x-1)(x-2) © (x+1)(x-1)
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3xt —2x% —9x% +4
=(x+1)(x=-2)(x+1)(3x-2)
3x3-3x2—6x=3x(x-2) (x+1)
S EYEeRE L (x-2) (x+ 1)




9. T U A1 422 - 5x- 69 ARPORSE FohE?

D x @x—l—l @ x+2 @ x-1 ® x-2

Brl=x+1)2-x+1)
2 +2x%-5x-6=(x—-2)(x +1)(x+3)
oA Fdgob e x+ 1
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® x+3

R+x=A2 =01 Fo]z A&
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—(4-2)(4-6)
)= (x* +x-2)(x2 +x-6)
= (x-1)(x+2)(x-2)(x+3)
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11. (P -x+1)(x*-x-3)-55 dFEalctH (x® +ax+b)(x* +cx+2)
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(X+1)(X-3)-5
X?-2X-3-5
X% -2X-8
=(X-4)(X+2)
=2 -x-4)(x*-x+2)
w2t g =-1, b=-4, c=-19|2&
a+b+c=-1-4-1=-6
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—




12.

<H7]>
@ x?-1 O x2-x-1
©® x»*-x-3 ® ¥ +x-3
® 6,0 @ © ® ®e. e
@ 9,0,06 ® 0,6,

S5 |
-T2+ 9=x'-6x2+9-x2

= (x?-3)%2 - x?

=(x®-x-3)(x* +x-3)
L (R x-3), (4




13. 2x2 +2y? +5xy—x+y—12] Q1521 ALY

@2x+y+1 @ 2x+y-1 ® 2x-y-1

@ x+2y+1 ® x-2y-1

2x% + 2y +5xy—x+y-—1
=2x2+ (5y—1Lx+ (y+1)(2y—-1)
=(x+2y-1)2x+y+1)




14. a(b? - ¢*) + b(c? - a®) + c(a® - b*) & Ag==olstH?

@® —(a=b)(b-c)(c-a) @ (a=b)(b-c)(a-c)
® —(b-a)(b-c)(c—a) @) (a-b)b-c)c-a)
® (a=b)(b-c)(c+a)
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(FA) = (¢~ b)a® + (b* = *)a+ be(c - b)
= (c—b){a® - (c + b)a + bc}
=(c=b)(a-b)(a-c)
=(a=-b)(b-c)(c—a)
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A7
@a—b @ b+tec ® c+a
@ a+b+c ® abc

B

[a, b, c|+[b, ¢, a]l + [c, a, b]

= a(b? - c?) + b(c? — a®) + c(a® - b?)
= ab? — ac® + bc? — ba® + ca® - cb?
=a?(c—b) —a(c®> = b*) + be(c - b)

= (c - b){a® - a(c + b) + bc}

— (c—b)a—b)(a—c)
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_|) — x4 + 4x2y2 + 4y4 _ 7x2y2
= (x2 +2y?)2 - Tx%y?

= (2 + VTay + 2y%) (* - VTxy + 2°)
“a+b+c+d=14




17. ©g 5 oA A, BY ARIIGE 6, ALTHSE Lo]e} s,

L -
G =ag+aix +asx® +asx®* L W, ag + a; + as + az S FSHH?

A= (2x-1)(x+1)?
B=(2x-1)2(x+1)(x-2)

@2 @1 80 @ 1 ® 2

A= (2x-1)(x+1)2
B=(2x-1(x+1)(x-2)°| 2=
G=(2x-1)(x+1)
L=(2x-1)2%(x+1)%(x-2)

L

LDt E-2)

E L AFE) T2 x=1¢ fo|B=R
ag+a1+a2+a3:1x2x(—1):—2




18. olxgo] Ag7t 19l F olatthatA] A, B] HtF okt x 4 20] 2L
2 2BUETE 8 4 22— 4x— 401tk A+ B = ax® + bx + c 2 WS
& a+ b+ o P& okt
> =

> =g 3

B ‘
Bta?-dx-4=(x+2)(x+1)(x-2)
F AR A (x+2)(x + 1), (x +2)(x - 2)
A+B=(x+2)(x-2)+(x+2)(x+1)
=224+ 3x-2=ax®>+bx+c
La=2b=3,c=-2
“at+b+c=3
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2x2 - 5x+6

(x=3)(2x+1)

2x%° —bx—3 =
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20.

D AFFE] A7t 191 7 oA A o] Z ATt x° —2x% - 5x+6
o|al, Htfgefr7t x + 24 ), F ohdA] 9] oh2?

D 2x24+x-6 @ 2x2-2x+3 ® 2x2-3x+4
@ 2x2-6 @2x2—8

L=abG = x> -2x>-5x+6
of W), ATBFS G 7t x+2 0lBZ ZHAWL dhel L &
QEsfet

L

=3 -4x+3)(x+2)
=(x-1)(x-3)(x+2)

ujeby, T = o] thapale
(x=1)(x+2) & (x-3)(x+2),

Z 24 x-2,x2—x—6 0|t
whebA], T ohabAl o] g2 2x% - 8 o]tk




21. HAAGE A%57 1) F ol AT} x + 3012 H AT

Bl=7F % + % - 6x D W, T o]x}4] 9] g2
O (x+1)(x-2) @ (x+2)(x+4)
@2(x-1)(x+3) @ 2(x-2)(x—4)

® 2(x+1)(x—4)

~&B

A FoFr7t x+ 3 0| BR
a(x+3),b(x+3) (a, b= A
HAFHTE f(x) =23+ 22 - 5
f(x) =x(x®> +x-6) = x(x+3)(x-2)
wreha] & okl

x(x+3) (x=2)(x+3) o|B2=

o= = ekl o] gk
x(x+3)+(x-2)(x+3)=(x+3)(2x-2)




22. 19997019 T}kl x2 —2x -1, x2 —=2x =2, ---, x2 — 2x — 1999 0] A
A7k 449 Qa4 0] Fo 2 Q4Re] H AL BE B A

@sH @wuil G5H @A 6 A

B ‘

x2=2x-n = (x+a)(x=b) (a, b = AA5) 25 (1 < n < 1999
Al A4

ab=n, a=>b-2

n=1-3,2-4,3-5 ---, 43-45(=1935) ] 437}




23. -1 +1° (P 4ax+b)(x®*+3x+b) 2 AFEND W, a+b

=112 +1 = (22 -1)2 - 952
= (2 - 1)% - (3x)2
=(x®-3x-1)(x>+3x-1)

x2 +ax+b)(x* + 3x + b)
Ta=-3, b=-1




24. O3 B7] F ab(b - a) + ac(c — a) + bc(2a — b - ¢) 9]
EEEERT

o
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e
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A

@ a-b O b+c © a-c
ONQ) @ © ® 6,06
@ 0.0 ®a.0.©

&8

tlo

ab(b —a) + ac(c —a) + bc(2a—b - ¢)

= ab® — a®b + ac® - a*c + 2abc — b*c — bc?
= —(b+c)a® + (b + 2bc + c*)a — be(b + )
=—(b+c){a® - (b+c)a+ bc}
=-(b+c)(a=-b)(a-c)
=(a-b)(b+c)(c—a)
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x-|—y—|—z:0 ...... @
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2+ +2=1--- ©®

(x+y+22 =2+ +22+ 2y +yz+2x) 0|22
@, ©®°AM 0% = 1+ 2(xy + yz + 2x)

% xy+yz+zx:—% ...... ®

@Oﬂlx-]w:§o]_\:_xi
xyz 2

3xyz = 2(xy + yz + zx)

. 1

.xyz_—g

T, 3+ 423 -3xz
=(x+y+2)(+y° +22 -y -yz-zx)
@A x+y+z=00]E&

x3+y3+z3=3xyz:3-<——> -1
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2% = x2 FH
240 935 _95 471 B—xT—x+1
235 _ 1 - xT—1
(x=1)(x" = 1)
=T

:x—1:25—1:31
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A% a®] ke

© 2 @ 1 ® 0 @-1  @-2

X fax—2,B =" —x? —ax+4°] Hrfg}

=

7t

Y FF+E x - a2t SHAE
Uzl o5l a3 + a? + aa—2 =10
@ -a’-aa+4=0

T A4S g5t 20 = -2, a=-1

oA @ = ~1 & ThAl A 4ol it
-1+ (-1)?-a-2=0 ra=-2




28.

Al el dolzt x, y, 291 47

2 21 BC oA 54 ( 4)(x )
2(x%=y%)2? + (x=y)* = 0°1 4

T, AABCE o] A2+ 17}

ol ol
[USE o

(=) (x+y) - 223 - y*)22 + (x - y)z*
= (x=y)(x+)2(® +¥%) = 2(x = y)(x® + xy + %) + (x ~y)2*
= (=M +2xy + Y2 (* +5?) = 2(2 + xy +y*)22 + %)

x—y){xt 4+ x%y? 4 2x3y + 2xy% 4+ 1%y 4yt —2x%2% — 2xyz? -
2y222 + 74
= (x—y){x* +y* +2* + 227 - 2x°2% - 29222 + 2xy(x% + y? - 22)}
= (x =2 +5* -2 + 209(x% +y* - 22))
=(x-y)P+y -2 +y -2 +2xy) =0
L x=y% ol TH A B 27t UK A4 A4

O

—

1 /i
(cx24+y2 =22+ 2xy = (x+y)2 - 2AAN HZZI ¥ x, y, z
=x+y+#2)




29. a-b=2-V3,b—c=2+ V3A Al Fa, b, col ot a®(b—c) +
b*(c —a) + c%(a-b) O] F2?

@)+ @ 3 ® 1 ®-2 ©®-3

&8

a-b=2—+3 --.... @
b—C=2+\/§ ...... ©

O+O= A H a-c=4
a’(b-c)+b*(c—a)+c*a-b)
=a?(b—-c) + b —b%a+c*a-c?b
=a?(b-c)—a(b®-c?) +b* - b
=a?(b-c)—a(b+c)(b-c)+bc(b-rc)
= (b-c){a® —a(b+c) + bc}

— (b-)a—b)(a—c)

=2+ V3)(2- V3) -4=4
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